
https://www.pass4itsure.com/hpe6-a75.html
2024 Latest pass4itsure HPE6-A75 PDF and VCE dumps Download

 

 

 

HPE6-A75Q&As

Aruba Certified Edge Professional Exam

Pass HP HPE6-A75 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/hpe6-a75.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

Latest HPE6-A75 Dumps | HPE6-A75 VCE Dumps | HPE6-A75 Study Guide                                1 / 5

https://www.pass4itsure.com/hpe6-a75.html
https://www.pass4itsure.com/hpe6-a75.html
https://www.pass4itsure.com/hpe6-a75.html


https://www.pass4itsure.com/hpe6-a75.html
2024 Latest pass4itsure HPE6-A75 PDF and VCE dumps Download

QUESTION 1

Which protocol do Mobility Controllers (MCs) use to detect a failed Mobility Master (MM)? 

A. VRRP 

B. SNMP 

C. PAPI 

D. IPSec 

Correct Answer: B 

 

QUESTION 2

What are Operator Profiles used for? 

A. to enforce role based access control for Aruba Controllers 

B. to enforce role based access control for ClearPass Policy Manager admin users 

C. to enforce role based access control for ClearPass Guest Admin users 

D. to assign ClearPass roles to guest users 

E. to map AD attributes to admin privilege levels in ClearPass Guest 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 
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Traffic between the servers m Area l takes a less optimal path rather than the link associated with VLAN l OOO, subnet
10.0.0.0/30. Based on the exhibits, why is this the case? 

A. The metric on the VLAN 1000 interface is too low. 

B. Switch-1 and Switch-2 cannot achieve adjacency on VLAN 1000 due to mismatches. 

C. OSPF routing switches choose the best intra-area routes based on Area 1 links only. 

D. The link between Switch-1 and Switch-2 has gone down. 

Correct Answer: C 

 

QUESTION 4

Refer to the exhibit. 
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Based on the Attribute configuration shown, which statement accurately describes the status of attribute values? 

A. Only the attribute values of department and memberOf can be used in role mapping policies. 

B. The attribute values of department, title, memberOf, telephoneNumber, and mail are directly applied as ClearPass. 

C. Only the attribute value of company can be used in role mapping policies, not the other attributes. 

D. The attribute values of department and memberOf are directly applied as ClearPass roles. 

E. Only the attribute values of title, telephoneNumber, and mail can be used in role mapping policies. 

Correct Answer: D 

 

QUESTION 5

OSPF is configured on an AOS-Switch, and the network administrator sets the router ID to 10.0.0.1. The administrator
wants to be able to reach the switch at this ID from any location throughout the OSPF system. The administrator also
needs the router ID to De stable and available, even if some links on the switch fail. 

What should the administrator do? 

A. Make sure that 10.0.0.1 is the IP address on the VLAN with the lowest ID. 

B. Configure 10.0.0.1 on a loopback interface, and enable OSPF on that interface. 

C. Configure 10.0.0.1 as a manual OSPF neighbor on each switch in the OSPF system. 

D. Configure 10.0.0.1 as a secondary IP address on the switch 00BM poet. 

Correct Answer: B 
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